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QUESTION 1

What function could be used to exchange \\'i\\' with \\'I\\' in the COMPANY port given the following expression?
functionname{1, COMPANY, \\'i\\' , \\'I\\') 

A. CHOOSE 

B. REPLACECHR 

C. REG_REPLACE 

D. INSTR 

Correct Answer: B 

 

QUESTION 2

Which attributes of a reusable Expression transformation can be edited within the Mapping Designer workspace? 

A. The transformation\\'s name, one of its port\\'s default values, the tracing level or a Metadata Extension 

B. The transformation\\'s name or the tracing level 

C. The transformation\\'s name, one of its port\\'s default values or the tracing level 

D. The transformation\\'s name is the only attribute that can be changed 

Correct Answer: B 

 

QUESTION 3

Given a Union transformation with 2 input groups, which statement is correct and true? 

A. Both input groups must have matching ports. The precision, datatype, and scale must be identical across both input
groups. 

B. Either input group can have a port that does not match the other input group. The precision, datatype, and scale does
not have to be identical across both input groups. 

C. When merging the 2 groups of data together, the Union transformation will remove duplicate rows. 

D. The port names in each input group can be named the same. 

Correct Answer: A 

 

QUESTION 4

The constant DD_INSERT may be used in an expression within which transformation or transformations? (choose one) 
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A. Expression and Update Strategy 

B. Update Strategy 

C. Update Strategy and Lookup 

D. Expression, Aggregator, and Update Strategy 

Correct Answer: B 

 

QUESTION 5

Which of these statements on worklets is correct? 

A. Worklets can be nested 

B. A worklet must be a reusable object 

C. A worklet can be executed separately 

D. A worklet does not have to contain a Start task 

Correct Answer: A 
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